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1^ WlMt is the are* of a Hezsgon whose side is 5 inehtsY
An9, 64.951905 ^js.

14. What is the area of an Octagon whose side is 60 yards?
An9. 3 a. 3 r. 14 per. 19 ydbk
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A CiacLB is a figure bounded by m curve line, called the

firevmfertnee, which is every whcro equidistant from a point

within, called tho centre. I'he radius of a circle is a straight

Hue drawn from the centre to the circumference. The diameter
is a r.ne drawn through the centre, to the circumference on
both sides.

To find the Diameter and Circumference of a Circle, the one
from the other. Multiply the diameter by 3.1416 gives the
circumference. Divide the circumference by 3.1416 gives tht
diametei^.

15. What is the circumference of a circle whose diameter
is20yarda7 iln«. 62.832 yards.

16. What is tho diameter of a circle whose circumference is

78.54 feet? ilns. 35 feet.

To find the -nrea «/ a circle. Multiply the square of the

diameter by . 7854 ;—or multiply the square of tho circumference
by .07958. Hence, tl>e area being given, to find the diameter
or circunifcFcnoe, is only to reverse the process.

17. Required the area of a circular orchard whose cirenm-
ference is 56.5 rods nr poles. Ans. 1 a. 2 r. 14 per^

18. What is the area of a circular pond whose diameter is

31 yards? il7?«. 754.7694 sq. yds;

19. I want a circular garden thnt shall occupy just half an
acre : how many feet long will the stone wall to that encloses

it? Ans. 523.15 feet^

30. In the midst of a meadow well stored with grass,

I took just an acre to telhcr my uss

;

How long must the cord be, that, feeding all round,

He mayuH graze less or mure than an acre of ground?
'- ^/i9. 39.23-f' yards.
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2 1 . Required 'ttie supet-fibral' &rea^ of a* ^lobe •vHiOe

is 12 inches. ^*,t, .. ArmS*, 45Q^.^90^4»aq..in.

S3. How in'bii]^ fquaT*p! n)ile8*it>^6e WurlaAo'of theearth»
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Ans. 196,663,355.7504 sq. m.


